



ON THE LOCAL AND GLOBAL PRINCIPLE FOR SYSTEMS OF RATIONAL HOMOGENEOUS FORMS IN A FINITE NUMBER OF VARIABLES

Lan Nguyen

Department of Mathematics

University of Wisconsin-Parkside

U. S. A.

e-mail: nguyenl@uwp.edu

Abstract

In this paper, we prove that the Hasse principle for any system of rational cubic forms, any system of rational homogeneous forms of degree at least 3 in an arbitrary number of variables is equivalent to the Hasse principle of certain systems of rational quadratic forms. This shows, in particular, the Hasse principle for any system of rational cubic forms or rational homogeneous forms of degree at least 3 in an arbitrary number of variables holds if and only if the intersection of the nonempty sets of nontrivial rational solutions of each quadratic form of the associated system of quadratic forms is nonempty.

1. Introduction

In Diophantine number theory, one is concerned with the fundamental question of whether a homogeneous polynomial

Received: October 3, 2015; Accepted: November 16, 2015

2010 Mathematics Subject Classification: 11D09, 11D25, 11D45, 11D72, 11E16, 11E76.

Keywords and phrases: Diophantine equation, quadratic form, cubic form, higher degree form, Hasse principle, local-global principle, systems of forms, solutions of systems of forms.

Communicated by K. K. Azad

$$P(x_1, x_2, x_3, \dots, x_n) = 0 \quad (1.1)$$

with rational coefficients has a nontrivial rational solution. Answering this question, in general, is very difficult and not always possible. This is the central theme of Hilbert's Tenth Problem [5].

1.1. The Hasse principle

If a nontrivial rational solution to (1.1) exists, then we call it a *global solution* since \mathbb{Q} is a global field. Since \mathbb{Q} is a subfield of each of its completion \mathbb{Q}_p 's, where p is a finite or infinite prime, this solution is also a nontrivial solution in each \mathbb{Q}_p . The Hasse principle says that the *reverse direction also holds*. That is, if equation (1.1) has a nontrivial solution in each completion \mathbb{Q}_p , called a *local solution* since \mathbb{Q}_p is a local field, then it also has a solution in \mathbb{Q} . If the polynomial in (1.1) has this property, then we say that *it satisfies the Hasse principle*. Not every homogeneous polynomial satisfies the Hasse principle. One of the best-known examples of such a polynomial is given by Selmer [8]:

$$3x^3 + 4y^3 + 5z^3 = 0. \quad (1.2)$$

For the Hasse principle for forms of degrees 3 and 4, see [2] and [6] for some results. Concerning systems of forms, the Hasse principle for systems of quadratic forms has been studied by Davenport [1], Heath-Brown [3] and others. For systems of cubic forms, there are currently no similar systematic studies. Some results are obtained for such systems such as those found in [4] and [9].

1.2. The Hasse Minkowski theorem

Minkowski established, around 1920, the Hasse principle for quadratic forms with rational coefficients.

Theorem 1.1. *Let $F(x_1, x_2, x_3, \dots, x_n) = 0$ be a quadratic form with rational coefficients. Then $F(x_1, x_2, x_3, \dots, x_n) = 0$ has a nontrivial local solution at all places if and only if $F(x_1, x_2, x_3, \dots, x_n) = 0$ has a nontrivial global solution, i.e., a nontrivial rational solution. That is, the Hasse principle holds for $F(x_1, x_2, x_3, \dots, x_n) = 0$.*

For cubic forms of two variables, Fujiwara [2] obtains the following result:

Theorem 1.2. *Let $P(x_1, x_2) = 0$ be a cubic form with rational coefficients, called a binary cubic form. Then the Hasse principle holds for $P(x_1, x_2) = 0$.*

For any system of binary rational cubic forms, the following result is known:

Theorem 1.3 [9]. *If*

$$S = \begin{cases} G_1(x, y) = 0 \\ G_2(x, y) = 0 \\ \vdots \\ G_m(x, y) = 0 \end{cases}$$

is a system of binary rational quadratic forms, then S satisfies the Hasse principle.

The argument for this theorem makes use of the result concerning quadratic forms in [7].

2. Result

In this paper, we prove that the Hasse principle for any rational cubic form or rational homogeneous form of degree at least 3 in an arbitrary number of variables is equivalent to the Hasse principle of a certain system of rational quadratic forms.

Theorem 2.1. *Let*

$$\mathcal{S} = \begin{cases} G_1(x_1, x_2, \dots, x_n) = 0 \\ G_2(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ G_m(x_1, x_2, \dots, x_n) = 0 \end{cases}$$

be a system of rational homogeneous cubic forms in n variables. Then there exists a system of finitely many rational quadratic forms \mathcal{T} such that the Hasse principle for \mathcal{S} is equivalent to the Hasse principle for \mathcal{T} .

If all forms in \mathcal{S} are replaced by rational homogeneous forms of degree at least 3 in n variables, then the same statement also holds.

This result shows that the Hasse principle for any system of rational cubic forms or rational homogeneous forms of degree at least 3 in an arbitrary number of variables holds if and only if the intersection of the nonempty sets of nontrivial rational solutions of each quadratic form of the associated system of quadratic forms is nonempty. This provides in particular an intuitive way for seeing why it is more difficult for the Hasse principle for forms of degrees higher than two to hold.

3. Proof of Result

Proof. (Proof of Theorem 2.1)

(I) All forms in \mathcal{S} are cubic forms:

For each i in $\{1, \dots, m\}$, define

$$F_{ij}(x_1, x_2, \dots, x_n) = x_j G_i(x_1, x_2, \dots, x_n) \quad (3.1)$$

for $j = 1, \dots, n$. Thus, we obtain the system

$$\mathcal{L} = \begin{cases} F_{11}(x_1, x_2, \dots, x_n) = 0 \\ F_{12}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{1n}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{21}(x_1, x_2, \dots, x_n) = 0 \\ F_{22}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{2n}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{m1}(x_1, x_2, \dots, x_n) = 0 \\ F_{m2}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{mn}(x_1, x_2, \dots, x_n) = 0. \end{cases} \quad (3.2)$$

Next, let us define the following variables:

$$X_{u,v} := x_u x_v \quad (3.3)$$

for $u, v \in \{1, \dots, n\}$. Then

$$X_{u,v}^2 - X_{u,u}X_{v,v} = 0 \quad (3.4)$$

for $u, v \in \{1, \dots, n\}$ and

$$X_{u,v}X_{s,t} - X_{u,s}X_{v,t} = 0 \quad (3.5)$$

as well as

$$X_{u,v}X_{s,t} - X_{u,t}X_{v,s} = 0 \quad (3.6)$$

for all $u, v, s, t \in \{1, \dots, n\}$. Now let us denote the system

$$\left\{ \begin{array}{l} X_{u,v}^2 - X_{u,u}X_{v,v} = 0 \\ X_{u,s}^2 - X_{u,u}X_{s,s} = 0 \\ X_{u,t}^2 - X_{u,u}X_{t,t} = 0 \\ X_{v,s}^2 - X_{v,v}X_{s,s} = 0 \\ X_{v,t}^2 - X_{v,v}X_{t,t} = 0 \\ X_{s,t}^2 - X_{s,s}X_{t,t} = 0 \\ X_{u,v}X_{s,t} - X_{u,s}X_{v,t} = 0 \\ X_{u,v}X_{s,t} - X_{u,t}X_{v,s} = 0 \end{array} \right. \quad (3.7)$$

by

$$\bar{X}_{[uvst]} = 0$$

and the system

$$\{\bar{X}_{[uvst]} = 0\}_{\{[uvst] | u, v, s, t \in \{1, \dots, n\}\}} \quad (3.8)$$

by

$$X_{1, \dots, n} = 0,$$

where $\{[uvst] | u, v, s, t \in \{1, \dots, n\}\}$ denotes the collection of all distinct unordered quadruples $[uvst]$ with u, v, s, t being in $\{1, \dots, n\}$. There are $\binom{n}{4}$ such collections of distinct unordered quadruples. Thus, for each $[uvst]$, system $\bar{X}_{[uvst]} = 0$ consists of $8\binom{n}{4}$ rational quadratic forms.

Proposition 3.1. *Let F denote either \mathbb{Q} or \mathbb{Q}_p for some prime p finite or infinite. System \mathcal{S} has a nontrivial solution in F if and only if the system*

$$\mathfrak{L} := \begin{cases} F_{11}(X_{1,1}, X_{2,1}, \dots, X_{n,1}) = 0 \\ F_{12}(X_{1,2}, X_{2,2}, \dots, X_{n,2}) = 0 \\ \vdots \\ F_{1n}(X_{1,n}, X_{2,n}, \dots, X_{n,n}) = 0 \\ \vdots \\ F_{21}(X_{1,1}, X_{2,1}, \dots, X_{n,1}) = 0 \\ F_{22}(X_{1,2}, X_{2,2}, \dots, X_{n,2}) = 0 \\ \vdots \\ F_{2n}(X_{1,n}, X_{2,n}, \dots, X_{n,n}) = 0 \\ \vdots \\ F_{m1}(X_{1,1}, X_{2,1}, \dots, X_{n,1}) = 0 \\ F_{m2}(X_{1,2}, X_{2,2}, \dots, X_{n,2}) = 0 \\ \vdots \\ F_{mn}(X_{1,n}, X_{2,n}, \dots, X_{n,n}) = 0 \\ \mathbf{X}_{1,\dots,n} = 0 \end{cases} \quad (3.9)$$

of $mn + 8\binom{n}{4}$ rational homogeneous quadratic forms has a nontrivial solution in F .

Proof. By construction, the ‘only if’ direction is clear. Let us prove the if direction.

For $i \in \{1, \dots, n\}$ and $j \in \{1, \dots, m\}$,

$$F_{ij}(X_{1,j}, X_{2,j}, \dots, X_{n,j}) = \sum_{1 \leq u \leq n} a_{ujuj}^{(ij)} X_{uj}^2 + \sum_{1 \leq u \neq v \leq n} a_{ujvj}^{(ij)} X_{uj} X_{vj} \quad (3.10)$$

for $a_{ujuj}^{(ij)}$ ’s and $a_{ujvj}^{(ij)}$ ’s some elements of F for all u and v in $\{1, \dots, n\}$.

Suppose system \mathfrak{L} has a nontrivial solution in F , say,

$$(A_{1,1}, \dots, A_{1,n}, \dots, A_{n,1}, \dots, A_{n,n}), \quad (3.11)$$

where A_{ij} 's are in F for all i, j and $A_{i_0 j_0} \neq 0$ for some $A_{i_0 j_0}$. Then we have

$$\begin{cases} A_{u,v}^2 - A_{u,u}A_{v,v} = 0 \\ A_{u,s}^2 - A_{u,u}A_{s,s} = 0 \\ A_{u,t}^2 - A_{u,u}A_{t,t} = 0 \\ A_{v,s}^2 - A_{v,v}A_{s,s} = 0 \\ A_{v,t}^2 - A_{v,v}A_{t,t} = 0 \\ A_{s,t}^2 - A_{s,s}A_{t,t} = 0 \\ A_{u,v}A_{s,t} - A_{u,s}A_{v,t} = 0 \\ X_{u,v}A_{s,t} - A_{u,t}A_{v,s} = 0 \end{cases} \quad (3.12)$$

by (3.7) and

$$0 = \sum_{1 \leq u \leq n} a_{ujij}^{(ij)} A_{uj}^2 + \sum_{1 \leq u \neq v \leq n} a_{ujvj}^{(ij)} A_{uj} A_{vj} \quad (3.13)$$

for $i \in \{1, \dots, n\}$ and $j \in \{1, \dots, m\}$ as well as for all u and v in $\{1, \dots, n\}$. It follows that

$$\begin{pmatrix} \frac{A_{1,1}}{A_{i_0,j_0}}, \dots, \frac{A_{1,n}}{A_{i_0,j_0}}, \dots, \frac{A_{i_0,1}}{A_{i_0,j_0}}, \dots, \frac{A_{i_0,j_0-1}}{A_{i_0,j_0}}, 1, \\ \frac{A_{i_0,j_0+1}}{A_{i_0,j_0}}, \dots, \frac{A_{i_0,n}}{A_{i_0,j_0}}, \dots, \frac{A_{n,1}}{A_{i_0,j_0}}, \dots, \frac{A_{n,n}}{A_{i_0,j_0}} \end{pmatrix} \quad (3.14)$$

is also a nontrivial solution to system \mathcal{L} . By (3.12), it follows that

$$A_{i_0,j_0}^2 = A_{i_0,i_0}A_{j_0,j_0} \quad (3.15)$$

and thus

$$A_{i_0,i_0} \neq 0 \quad \text{and} \quad A_{j_0,j_0} \neq 0. \quad (3.16)$$

Hence,

$$\left(\frac{A_{1,1}}{A_{i_0,i_0}}, \dots, \frac{A_{1,n}}{A_{i_0,i_0}}, \dots, \frac{A_{i_0,1}}{A_{i_0,i_0}}, \dots, \frac{A_{i_0,i_0-1}}{A_{i_0,i_0}}, 1, \frac{A_{i_0,i_0+1}}{A_{i_0,i_0}}, \right. \\ \left. \frac{A_{i_0,i_0+1}}{A_{i_0,i_0}}, \dots, \frac{A_{i_0,n}}{A_{i_0,i_0}}, \dots, \frac{A_{n,1}}{A_{i_0,i_0}}, \dots, \frac{A_{n,n}}{A_{i_0,i_0}} \right) \quad (3.17)$$

and

$$\left(\frac{A_{1,1}}{A_{j_0,j_0}}, \dots, \frac{A_{1,n}}{A_{j_0,j_0}}, \dots, \frac{A_{j_0,1}}{A_{j_0,j_0}}, \dots, \frac{A_{j_0,j_0-1}}{A_{j_0,j_0}}, 1, \frac{A_{j_0,j_0+1}}{A_{j_0,j_0}}, \right. \\ \left. \frac{A_{j_0,j_0+1}}{A_{j_0,j_0}}, \dots, \frac{A_{j_0,n}}{A_{j_0,j_0}}, \dots, \frac{A_{n,1}}{A_{j_0,j_0}}, \dots, \frac{A_{n,n}}{A_{j_0,j_0}} \right) \quad (3.18)$$

are also nontrivial solutions to system \mathfrak{L} by (3.16). In particular, we have

$$\left\{ \begin{array}{l} \left(\frac{A_{u,v}}{A_{i_0,i_0}} \right)^2 - \frac{A_{u,u}}{A_{i_0,i_0}} \frac{A_{v,v}}{A_{i_0,i_0}} = 0 \\ \left(\frac{A_{u,s}}{A_{i_0,i_0}} \right)^2 - \frac{A_{u,u}}{A_{i_0,i_0}} \frac{A_{s,s}}{A_{i_0,i_0}} = 0 \\ \left(\frac{A_{u,t}}{A_{i_0,i_0}} \right)^2 - \frac{A_{u,u}}{A_{i_0,i_0}} \frac{A_{t,t}}{A_{i_0,i_0}} = 0 \\ \left(\frac{A_{v,s}}{A_{i_0,i_0}} \right)^2 - \frac{A_{v,v}}{A_{i_0,i_0}} \frac{A_{s,s}}{A_{i_0,i_0}} = 0 \\ \left(\frac{A_{v,t}}{A_{i_0,i_0}} \right)^2 - \frac{A_{v,v}}{A_{i_0,i_0}} \frac{A_{t,t}}{A_{i_0,i_0}} = 0 \\ \left(\frac{A_{s,t}}{A_{i_0,i_0}} \right)^2 - \frac{A_{s,s}}{A_{i_0,i_0}} \frac{A_{t,t}}{A_{i_0,i_0}} = 0 \\ \frac{A_{u,v}}{A_{i_0,i_0}} \frac{A_{s,t}}{A_{i_0,i_0}} - \frac{A_{u,s}}{A_{i_0,i_0}} \frac{A_{v,t}}{A_{i_0,i_0}} = 0 \\ \frac{A_{u,v}}{A_{i_0,i_0}} \frac{A_{s,t}}{A_{i_0,i_0}} - \frac{A_{u,t}}{A_{i_0,i_0}} \frac{A_{v,s}}{A_{i_0,i_0}} = 0. \end{array} \right. \quad (3.19)$$

As a result, it follows from (3.19) that the following statements hold:

(1) For each i in $\{1, \dots, n\}$,

$$\frac{A_{i,i}}{A_{i_0 i_0}} = \left(\frac{A_{i,i_0}}{A_{i_0,i_0}} \right)^2 = \left(\frac{A_{i_0,i}}{A_{i_0,i_0}} \right)^2. \quad (3.20)$$

(2) For $i, j \in \{1, \dots, n\}$,

$$\begin{aligned} \frac{A_{i,j}}{A_{i_0,i_0}} &= \frac{A_{i,i_0}}{A_{i_0,i_0}} \frac{A_{i_0,j}}{A_{i_0,i_0}} = \frac{A_{i,i_0}}{A_{i_0,i_0}} \frac{A_{j,i_0}}{A_{i_0,i_0}} = \frac{A_{i_0,i}}{A_{i_0,i_0}} \frac{A_{i_0,j}}{A_{i_0,i_0}} \\ &= \frac{A_{i_0,i}}{A_{i_0,i_0}} \frac{A_{j,i_0}}{A_{i_0,i_0}}. \end{aligned} \quad (3.21)$$

From (3.9)-(3.10), it can be verified that the following equations hold for $i \in \{1, \dots, n\}$ and $j \in \{1, \dots, m\}$:

$$\begin{aligned} 0 &= F_{ij}(A_{1,j}, A_{2,j}, \dots, A_{n,j}) = F_{ij}\left(\frac{A_{1,j}}{A_{i_0,i_0}}, \frac{A_{2,j}}{A_{i_0,i_0}}, \dots, \frac{A_{n,j}}{A_{i_0,i_0}}\right) \\ &= \sum_{1 \leq u \leq n} a_{uj}^{(ij)} \left(\frac{A_{uj}}{A_{i_0,i_0}} \right)^2 + \sum_{1 \leq u \neq v \leq n} a_{ujvj}^{(ij)} \frac{A_{u,j}}{A_{i_0,i_0}} \frac{A_{v,j}}{A_{i_0,i_0}}. \end{aligned} \quad (3.22)$$

In particular,

$$\begin{aligned} 0 &= F_{ii_0}(A_{1,i_0}, A_{2,i_0}, \dots, A_{i_0-1,i_0}, A_{i_0,i_0}, A_{i_0+1,i_0}, \dots, A_{n,i_0}) \\ &= F_{ii_0}\left(\frac{A_{1,i_0}}{A_{i_0,i_0}}, \frac{A_{2,i_0}}{A_{i_0,i_0}}, \dots, \frac{A_{i_0-1,i_0}}{A_{i_0,i_0}}, 1, \frac{A_{i_0+1,i_0}}{A_{i_0,i_0}}, \dots, \frac{A_{n,i_0}}{A_{i_0,i_0}}\right) \\ &= \sum_{1 \leq u \leq n} a_{ui_0ui_0}^{(ij)} \left(\frac{A_{ui_0}}{A_{i_0,i_0}} \right)^2 + \sum_{1 \leq u \neq v \leq n} a_{ui_0vi_0}^{(ij)} \frac{A_{u,i_0}}{A_{i_0,i_0}} \frac{A_{v,i_0}}{A_{i_0,i_0}} \\ &= G_i\left(\frac{A_{1,i_0}}{A_{i_0,i_0}}, \frac{A_{2,i_0}}{A_{i_0,i_0}}, \dots, \frac{A_{i_0-1,i_0}}{A_{i_0,i_0}}, 1, \frac{A_{i_0+1,i_0}}{A_{i_0,i_0}}, \dots, \frac{A_{n,i_0}}{A_{i_0,i_0}}\right) \end{aligned} \quad (3.23)$$

for each i in $\{1, \dots, n\}$ since

$$\frac{A_{ui_0}}{A_{i_0, i_0}} = \frac{A_{j, i_0}}{A_{i_0, i_0}} \frac{A_{i_0, i_0}}{A_{i_0, i_0}} \quad (3.24)$$

for each u in $\{1, \dots, n\}$. Therefore,

$$\left(\frac{A_{1, i_0}}{A_{i_0, i_0}}, \frac{A_{2, i_0}}{A_{i_0, i_0}}, \dots, \frac{A_{i_0-1, i_0}}{A_{i_0, i_0}}, 1, \frac{A_{i_0+1, i_0}}{A_{i_0, i_0}}, \dots, \frac{A_{n, i_0}}{A_{i_0, i_0}} \right) \quad (3.25)$$

is a nontrivial solution in F of the system

$$\begin{cases} G_1(x_1, x_2, \dots, x_n) = 0 \\ G_2(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ G_m(x_1, x_2, \dots, x_n) = 0 \end{cases}$$

as needed. □

Therefore, the Hasse principle of any system of cubic forms \mathcal{S} is equivalent to the Hasse principle of the associated system of quadratic forms \mathcal{L} .

(II) Forms in \mathcal{S} are homogeneous forms of degree at least 3 in n variables:

Suppose that \mathcal{S} has m forms and let d_i denote the homogeneous degree of form $G_i(x_1, \dots, x_n)$ for $i = 1, \dots, m$. Let d be the maximal of the d_i 's. Let D be the least even positive integer such that $D \geq d$. Define system \mathcal{L} as follows:

$$\mathcal{L} = \left\{ \begin{array}{l} F_{11}(x_1, x_2, \dots, x_n) = 0 \\ F_{12}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{1n}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{21}(x_1, x_2, \dots, x_n) = 0 \\ F_{22}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{2n}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{m1}(x_1, x_2, \dots, x_n) = 0 \\ F_{m2}(x_1, x_2, \dots, x_n) = 0 \\ \vdots \\ F_{mn}(x_1, x_2, \dots, x_n) = 0, \end{array} \right. \quad (3.26)$$

where

$$F_{ij}(x_1, x_2, \dots, x_n) = x_j^{D-d_i} G_i(x_1, x_2, \dots, x_n). \quad (3.27)$$

Next, let us define the following variables: let I consist of all vectors of the form

$$\alpha = (\alpha_1, \dots, \alpha_n), \quad (3.28)$$

where α_i 's are nonnegative integers such that

$$\sum_{1 \leq i \leq n} \alpha_i = \frac{D}{2}. \quad (3.29)$$

For each α in I , let us define the following variables:

$$X_\alpha := \prod_{1 \leq i \leq n} x_i^{\alpha_i}. \quad (3.30)$$

Then for each element X_α ,

$$X_\alpha^2 - X_\beta X_\gamma = 0 \quad (3.31)$$

for all elements $\beta = (\beta_1, \dots, \beta_n)$ and $\gamma = (\gamma_1, \dots, \gamma_n)$ in I such that

$$2\alpha_i = \beta_i + \gamma_i \quad (3.32)$$

for each i in $\{1, \dots, n\}$. For any pair of $\mu = (\mu_1, \dots, \mu_n)$ and $\nu = (\nu_1, \dots, \nu_n)$ in I ,

$$X_\mu X_\nu - X_\eta X_\varepsilon = 0 \quad (3.33)$$

for all $\eta = (\eta_1, \dots, \eta_n)$ and $\varepsilon = (\varepsilon_1, \dots, \varepsilon_n)$ in I such that

$$\mu_i + \nu_i = \eta_i + \varepsilon_i \quad (3.34)$$

for each i in $\{1, \dots, n\}$. Now let us represent the system consisting of all equations of the form (3.31) by

$$X_{\alpha \in I} = 0 \quad (3.35)$$

and the system consisting of all equations of the form (3.33) by

$$X_{(\mu, \nu) \in I \times I} = 0. \quad (3.36)$$

System \mathcal{L} can be rewritten as:

$$\mathcal{L} = \begin{cases} F_{11}(\{X_\alpha\}_{\{\alpha \in I_{11} \subseteq I\}}) = 0 \\ F_{12}(\{X_\alpha\}_{\{\alpha \in I_{12} \subseteq I\}}) = 0 \\ \vdots \\ F_{1n}(\{X_\alpha\}_{\{\alpha \in I_{1n} \subseteq I\}}) = 0 \\ \vdots \\ F_{21}(\{X_\alpha\}_{\{\alpha \in I_{21} \subseteq I\}}) = 0 \\ F_{22}(\{X_\alpha\}_{\{\alpha \in I_{22} \subseteq I\}}) = 0 \\ \vdots \\ F_{2n}(\{X_\alpha\}_{\{\alpha \in I_{2n} \subseteq I\}}) = 0 \\ \vdots \\ F_{m1}(\{X_\alpha\}_{\{\alpha \in I_{m1} \subseteq I\}}) = 0 \\ F_{m2}(\{X_\alpha\}_{\{\alpha \in I_{m2} \subseteq I\}}) = 0 \\ \vdots \\ F_{mn}(\{X_\alpha\}_{\{\alpha \in I_{mn} \subseteq I\}}) = 0, \end{cases} \quad (3.37)$$

where I_{ij} is an appropriate subset, depending on (3.27), of I for each i in $\{1, \dots, m\}$ and j in $\{1, \dots, n\}$. By combining (3.35), (3.36) and (3.37), we have the following:

Proposition 3.2. *Let F denote either \mathbb{Q} or \mathbb{Q}_p for some prime p finite or infinite. Then system \mathcal{S} has a nontrivial solution in F if and only if the system*

$$\mathfrak{L} = \begin{cases} F_{11}(\{X_\alpha\}_{\{\alpha \in I_{11} \subseteq I\}}) = 0 \\ F_{12}(\{X_\alpha\}_{\{\alpha \in I_{12} \subseteq I\}}) = 0 \\ \vdots \\ F_{1n}(\{X_\alpha\}_{\{\alpha \in I_{1n} \subseteq I\}}) = 0 \\ \vdots \\ F_{21}(\{X_\alpha\}_{\{\alpha \in I_{21} \subseteq I\}}) = 0 \\ F_{22}(\{X_\alpha\}_{\{\alpha \in I_{22} \subseteq I\}}) = 0 \\ \vdots \\ F_{2n}(\{X_\alpha\}_{\{\alpha \in I_{2n} \subseteq I\}}) = 0 \\ \vdots \\ F_{m1}(\{X_\alpha\}_{\{\alpha \in I_{m1} \subseteq I\}}) = 0 \\ F_{m2}(\{X_\alpha\}_{\{\alpha \in I_{m2} \subseteq I\}}) = 0 \\ \vdots \\ F_{mn}(\{X_\alpha\}_{\{\alpha \in I_{mn} \subseteq I\}}) = 0 \\ X_{\alpha \in I} = 0 \\ X_{(\mu, \nu) \in I \times I} = 0 \end{cases} \quad (3.38)$$

of homogeneous quadratic forms has a nontrivial solution in F .

Proof. A method similar to that found in the proof of Proposition 3.1 also works. □

Theorem 2.1 follows as a result. □

References

- [1] H. Davenport, Cubic forms in 16 variables, Proceedings of the Royal Society A 272 (1950), 285-303.
- [2] M. Fujiwara, Hasse principle in algebraic equations, Acta Arith. 22 (1973), 267-276.

- [3] D. R. Heath-Brown, Cubic forms in 14 variables, *Invent. Math.* 170(1) (2007), 199-230.
- [4] C. Hooley, On nonary cubic forms, *J. Für Die Reine Und Angewandte Mathematik* 386 (1988), 32-98.
- [5] Y. Matiyasevich, Hilbert's Tenth Problem, MIT Press, Massachusetts, 1993.
- [6] L. Mordell, On the rational solutions of the indeterminate equations of the third and fourth degrees, *Proc. Cambridge Phil. Soc.* 21 (1922-1923), 179-192.
- [7] A. Schinzel, Hasse's principle for systems of ternary quadratic forms and for one biquadratic form, *Studia Mathematica* T. LXXVII (1983), 103-109.
- [8] E. Selmer, The Diophantine equation $ax^3 + by^3 + cz^3$, *Acta Math.* 85(1) (1951), 203-362.
- [9] L. Nguyen, On the local and global principle for system of binary rational cubic forms, *Notes on Number Theory and Discrete Mathematics* 20(5) (2014), 49-57.
- [10] J. P. Serre, A first course in arithmetic, Graduate Texts in Mathematics, Springer-Verlag, Berlin, New York, Vol. 7, 1973.